# GROWTH ESTIMATE FOR RATIONAL FUNCTIONS WITH PRESCRIBED POLES AND RESTRICTED ZEROS 

N. A. RATHER ${ }^{1}$, M. SHAFI $^{2}$, AND ISHFAQ DAR ${ }^{3 *}$


#### Abstract

Let $\mathcal{R}_{n}$ be the set of all rational functions of the type $r(z)=f(z) / w(z)$, where $f(z)$ is a polynomial of degree at most $n$ and $w(z)=\prod_{j=1}^{n}\left(z-a_{j}\right),\left|a_{j}\right|>1$ for $1 \leq j \leq n$. In this paper, we extend some famous results concerning to the growth of polynomials by T. J. Rivlin, A. Aziz and others to the rational functions with prescribed poles and thereby obtain the analogous results for such rational functions with restricted zeros.


## 1. Introduction

Let $\mathcal{P}_{n}$ be the set of all complex polynomials $f(z)=\sum_{j=1}^{n} a_{j} z^{j}$ of degree at most $n$ and let $D_{k-}=\{z:|z|<k\}, D_{k+}=\{z:|z|>k\}$ and $T_{k}=\{z:|z|=k\}$.

For $a_{j} \in \mathbb{C}$ with $j=1,2, \ldots, n$, we set

$$
w(z)=\prod_{j=1}^{n}\left(z-a_{j}\right), \quad B(z)=\prod_{j=1}^{n}\left(\frac{1-\overline{a_{j}} z}{z-a_{j}}\right)
$$

and

$$
\mathcal{R}_{n}=\mathcal{R}_{n}\left(a_{1}, a_{2}, \ldots, a_{n}\right)=\left\{\frac{f(z)}{w(z)}: f \in \mathcal{P}_{n}\right\} .
$$

Then clearly $\mathcal{R}_{n}$ is the space of all rational functions with at most $n$ poles $a_{1}, a_{2}, \ldots, a_{n}$ with finite limit at infinity. We note that $B(z) \in \mathcal{R}_{n}$. Throughout this paper, we shall assume that all the poles $a_{1}, a_{2}, \ldots, a_{n}$ lie in $D_{1+}$.

[^0]Received: December 21, 2020.
Accepted: April 04, 2022.

For a polynomial $f(z)$ of degree n having no zeros in $D_{1-}$, T. J. Rivlin [8] proved that, for $\rho<1$ and $z \in T_{1}$,

$$
\begin{equation*}
|f(\rho z)| \geq\left(\frac{\rho+1}{2}\right)^{n}|f(z)| \tag{1.1}
\end{equation*}
$$

The result is best possible and equality holds for $f(z)=\alpha(z-\beta)^{n},|\beta|=1$.
A. Aziz [2] generalizes inequality (1.1) and proved that, if $f(z)$ is a polynomial of degree $n$ having no zeros in $D_{k-}$, then for $z \in T_{1}$,

$$
\begin{equation*}
|f(\rho z)| \geq\left(\frac{\rho+k}{1+k}\right)^{n}|f(z)|, \quad k \geq 1 \text { and } \rho<1 \tag{1.2}
\end{equation*}
$$

and

$$
\begin{equation*}
|f(\rho z)| \geq\left(\frac{\rho+k}{1+k}\right)^{n}|f(z)|, \quad k \leq 1 \text { and } 0 \leq \rho \leq k^{2} \tag{1.3}
\end{equation*}
$$

The result is sharp and equality holds for $f(z)=(z+k)^{n}$.
Analogous to the above inequality, we have a result when $1<R \leq k^{2}, k>1$, which can be found in [7, page 432], which states that if $f(z)$ is a polynomial of degree $n$ having all its zeros in $D_{k+} \cup T_{k}$, where $k>1$, then for $z \in T_{1}$ and $1<R \leq k^{2}$

$$
\begin{equation*}
|f(R z)| \leq\left(\frac{R+k}{1+k}\right)^{n}|f(z)| \tag{1.4}
\end{equation*}
$$

The result is sharp and equality holds if and only if $f(z)=c\left(z-k e^{i \gamma}\right)^{n}$ for some $c \neq 0$ and $\gamma \in \mathbb{R}$.

In literature there exist various results in this direction related to the growth of polynomials for reference see [1,3-6].

The main aim of this paper is to obtain certain growth estimates for rational functions $r(z) \in \mathcal{R}_{n}$ having no zero in $D_{k-}$. In this direction we first present an extension of inequality (1.2) to the rational functions. More precisely, we prove the following.

Theorem 1.1. Let $r \in \mathcal{R}_{n}$ with no zero in $D_{k-}$, where $k \geq 1$, then for $\rho<1$ and $z \in T_{1}$,

$$
\begin{equation*}
|r(\rho z)| \geq\left(\frac{\rho+k}{1+k}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|-1}{\left|a_{j}\right|+\rho}\right)|r(z)| . \tag{1.5}
\end{equation*}
$$

Remark 1.1. If we take $k=1$ in Theorem 1.1, we get the following extension of inequality (1.1) to the rational functions.

Corollary 1.1. Let $r \in \mathcal{R}_{n}$ with no zeros in $D_{1-}$, then for $\rho<1$ and $z \in T_{1}$,

$$
|r(\rho z)| \geq\left(\frac{\rho+1}{2}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|-1}{\left|a_{j}\right|+\rho}\right)|r(z)| .
$$

Remark 1.2. Taking $w(z)=(z-\alpha)^{n},|\alpha|>1$, in Theorem 1.1, then inequality (1.5) reduces to the following inequality

$$
\begin{equation*}
|f(\rho z)| \geq\left(\frac{\rho+k}{1+k}\right)^{n}\left(\frac{|\alpha|-1}{|\alpha|+\rho}\right)^{n}\left|\frac{\rho z-\alpha}{z-\alpha}\right|^{n}|f(z)| . \tag{1.6}
\end{equation*}
$$

Letting $|\alpha| \rightarrow \infty$ in inequality (1.6), we get inequality (1.2).
Theorem 1.2. Let $r \in \mathcal{R}_{n}$ with no zeros in $D_{k-}$, where $k \leq 1$, then for $0 \leq \rho \leq k^{2}$ and $z \in T_{1}$,

$$
\begin{equation*}
|r(\rho z)| \geq\left(\frac{\rho+k}{1+k}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|-1}{\left|a_{j}\right|+\rho}\right)|r(z)| \tag{1.7}
\end{equation*}
$$

Remark 1.3. By taking $w(z)=(z-\alpha)^{n},|\alpha|>1$, in Theorem 1.2, inequality (1.7) reduces to the following inequality

$$
\begin{equation*}
|f(\rho z)| \geq\left(\frac{\rho+k}{1+k}\right)^{n}\left(\frac{|\alpha|-1}{|\alpha|+\rho}\right)^{n}\left|\frac{\rho z-\alpha}{z-\alpha}\right|^{n}|f(z)| \tag{1.8}
\end{equation*}
$$

Letting $|\alpha| \rightarrow \infty$ in inequality (1.8), we get inequality (1.3).
Theorem 1.3. Let $r \in \mathcal{R}_{n}$ with no zeros in $D_{k-}$, where $k>1$, then for $1<R \leq k^{2}$ and $z \in T_{1}$,

$$
\begin{equation*}
|r(R z)| \leq\left(\frac{R+k}{1+k}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|+1}{| | a_{j}|-R|}\right)|r(z)| \tag{1.9}
\end{equation*}
$$

Remark 1.4. Taking $w(z)=(z-\alpha)^{n},|\alpha|>1$, in Theorem 1.3, inequality (1.9) reduces to the following inequality

$$
\begin{equation*}
|f(R z)| \leq\left(\frac{R+k}{1+k}\right)^{n}\left(\frac{|\alpha|+1}{| | \alpha|-R|}\right)^{n}\left|\frac{R z-\alpha}{z-\alpha}\right|^{n}|f(z)| \tag{1.10}
\end{equation*}
$$

Letting $|\alpha| \rightarrow \infty$ in inequality (1.10), we obtain inequality (1.4).

## 2. Proofs of the Theorems

Proof of Theorem 1.1. By hypothesis $r \in \mathcal{R}_{n}$, therefore we have $r(z)=\frac{f(z)}{w(z)}$, where $w(z)=\prod_{j=1}^{n}\left(z-a_{j}\right),\left|a_{j}\right|>1$. Since all the zeros of $f(z)$ lie in $D_{k+} \cup T_{k}, k \geq 1$, therefore if $z_{j}=\rho_{j} e^{i \theta_{j}}, 0 \leq \theta<2 \pi, 1 \leq j \leq n$, are the zeros of $f(z)$, then we write $f(z)=c \prod_{j=1}^{n}\left(z-\rho_{j} e^{i \theta_{j}}\right)$, where $\rho_{j} \geq k \geq 1, j=1,2, \ldots, n$. Hence, for $\rho<1$ and
$0 \leq \theta<2 \pi$, we have

$$
\begin{align*}
\left|\frac{r\left(\rho e^{i \theta}\right)}{r\left(e^{i \theta}\right)}\right| & =\left|\frac{f\left(\rho e^{i \theta}\right)}{w\left(\rho e^{i \theta}\right)}\right| /\left|\frac{f\left(e^{i \theta}\right)}{w\left(e^{i \theta}\right)}\right| \\
& =\left|\frac{f\left(\rho e^{i \theta}\right)}{f\left(e^{i \theta}\right)}\right| \cdot\left|\frac{w\left(e^{i \theta}\right)}{w\left(\rho e^{i \theta}\right)}\right| \\
& =\prod_{j=1}^{n}\left|\frac{\rho e^{i \theta}-\rho_{j} e^{i \theta_{j}}}{e^{i \theta}-\rho_{j} e^{i \theta_{j}}}\right| \prod_{j=1}^{n}\left|\frac{e^{i \theta}-a_{j}}{\rho e^{i \theta}-a_{j}}\right| . \tag{2.1}
\end{align*}
$$

Now,

$$
\begin{align*}
\prod_{j=1}^{n}\left|\frac{\rho e^{i \theta}-\rho_{j} e^{i \theta_{j}}}{e^{i \theta}-\rho_{j} e^{i \theta_{j}}}\right| & =\prod_{j=1}^{n}\left|\frac{\rho e^{i\left(\theta-\theta_{j}\right)}-\rho_{j}}{e^{i\left(\theta-\theta_{j}\right)}-\rho_{j}}\right| \\
& =\prod_{j=1}^{n}\left(\frac{\rho^{2}+\rho_{j}^{2}-2 \rho \rho_{j} \cos \left(\theta-\theta_{j}\right)}{1+\rho_{j}^{2}-2 \rho_{j} \cos \left(\theta-\theta_{j}\right)}\right)^{1 / 2} \\
& \geq \prod_{j=1}^{n} \frac{\rho+\rho_{j}}{1+\rho_{j}} \quad(\text { as } \rho<1) \\
& \geq \prod_{j=1}^{n} \frac{\rho+k}{1+k} \quad\left(\text { as } \rho_{j} \geq k\right) \\
& =\left(\frac{\rho+k}{1+k}\right)^{n} \tag{2.2}
\end{align*}
$$

Also for $\left|a_{j}\right|>1, j=1,2, \ldots, n$, we have

$$
\begin{equation*}
\prod_{j=1}^{n}\left|\frac{e^{i \theta}-a_{j}}{\rho e^{i \theta}-a_{j}}\right| \geq \prod_{j=1}^{n} \frac{\left|a_{j}\right|-1}{\left|a_{j}\right|+\rho} . \tag{2.3}
\end{equation*}
$$

Using inequalities (2.2) and (2.3) in equation (2.1), we obtain for $0 \leq \theta<2 \pi$

$$
\left|\frac{r\left(\rho e^{i \theta}\right)}{r\left(e^{i \theta}\right)}\right| \geq\left(\frac{\rho+k}{1+k}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|-1}{\left|a_{j}\right|+\rho}\right) .
$$

That is, for $z \in T_{1}$ and $\rho<1$, we have

$$
|r(\rho z)| \geq\left[\left(\frac{\rho+k}{1+k}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|-1}{\left|a_{j}\right|+\rho}\right)\right]|r(z)| .
$$

This completes the proof of Theorem 1.1.
Proof of Theorem 1.2. By hypothesis $r \in \mathcal{R}_{n}$, therefore we have $r(z)=\frac{f(z)}{w(z)}$, where $w(z)=\prod_{j=1}^{n}\left(z-a_{j}\right),\left|a_{j}\right|>1$. Since all the zeros of $f(z)$ lie in $D_{k+} \cup T_{k}, k \leq 1$, therefore if $z_{j}=\rho_{j} e^{i \theta_{j}}, 0 \leq \theta<2 \pi, 1 \leq j \leq n$, are the zeros of $f(z)$, then we write
$f(z)=c \prod_{j=1}^{n}\left(z-\rho_{j} e^{i \theta_{j}}\right)$, where $\rho_{j} \geq k, k \leq 1, j=1,2, \ldots, n$. Hence, for $0 \leq \rho \leq k^{2}$ and $0 \leq \theta<2 \pi$, we have

$$
\begin{equation*}
\left|\frac{r\left(\rho e^{i \theta}\right)}{r\left(e^{i \theta}\right)}\right|=\prod_{j=1}^{n}\left|\frac{\rho e^{i \theta}-\rho_{j} e^{i \theta_{j}}}{e^{i \theta}-\rho_{j} e^{i \theta_{j}}}\right| \prod_{j=1}^{n}\left|\frac{e^{i \theta}-a_{j}}{\rho e^{i \theta}-a_{j}}\right| . \tag{2.4}
\end{equation*}
$$

Now,

$$
\begin{align*}
\prod_{j=1}^{n}\left|\frac{\rho e^{i \theta}-\rho_{j} e^{i \theta_{j}}}{e^{i \theta}-\rho_{j} e^{i \theta_{j}}}\right| & =\prod_{j=1}^{n}\left|\frac{\rho e^{i\left(\theta-\theta_{j}\right)}-\rho_{j}}{e^{i\left(\theta-\theta_{j}\right)}-\rho_{j}}\right| \\
& =\prod_{j=1}^{n}\left(\frac{\rho^{2}+\rho_{j}^{2}-2 \rho \rho_{j} \cos \left(\theta-\theta_{j}\right)}{1+\rho_{j}^{2}-2 \rho_{j} \cos \left(\theta-\theta_{j}\right)}\right)^{1 / 2} \\
& \geq \prod_{j=1}^{n} \frac{\rho+\rho_{j}}{1+\rho_{j}} \quad\left(\text { as } 0 \leq \rho \leq k^{2}\right) \\
& \geq \prod_{j=1}^{n} \frac{\rho+k}{1+k} \quad\left(\text { as } \rho_{j} \geq k\right) \\
& =\left(\frac{\rho+k}{1+k}\right)^{n} \tag{2.5}
\end{align*}
$$

Again as before, for $\left|a_{j}\right|>1$, we have

$$
\begin{equation*}
\prod_{j=1}^{n}\left|\frac{e^{i \theta}-a_{j}}{\rho e^{i \theta}-a_{j}}\right| \geq \prod_{j=1}^{n} \frac{\left|a_{j}\right|-1}{\left|a_{j}\right|+\rho} . \tag{2.6}
\end{equation*}
$$

Using inequalities (2.5) and (2.6) in equation (2.4), we have for $z \in T_{1}$ and $0 \leq \rho \leq k^{2}$,

$$
|r(\rho z)| \geq\left[\left(\frac{\rho+k}{1+k}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|-1}{\left|a_{j}\right|+\rho}\right)\right]|r(z)|,
$$

which is the desired result.

Proof of Theorem 1.3. Since all the zeros of $r(z)$ lie in $D_{k+} \cup T_{k}$, where $k>1$, therefore it follows that all the zeros of polynomial $f(z)$ lie in $D_{k+} \cup T_{k}, k>1$, therefore if $z_{j}=\rho_{j} e^{i \theta_{j}}, 1 \leq j \leq n$, are the zeros of $f(z)$, then we write $f(z)=c \prod_{j=1}^{n}\left(z-\rho_{j} e^{i \theta_{j}}\right)$, where $\rho_{j} \geq k>1, j=1,2, \ldots, n$. Hence, for $1<R \leq k^{2}$ and $0 \leq \theta<2 \pi$, we have

$$
\begin{equation*}
\left|\frac{r\left(R e^{i \theta}\right)}{r\left(e^{i \theta}\right)}\right|=\prod_{j=1}^{n}\left|\frac{R e^{i \theta}-\rho_{j} e^{i \theta_{j}}}{e^{i \theta}-\rho_{j} e^{i \theta_{j}}}\right| \prod_{j=1}^{n}\left|\frac{e^{i \theta}-a_{j}}{R e^{i \theta}-a_{j}}\right| \tag{2.7}
\end{equation*}
$$

Now,

$$
\begin{align*}
\prod_{j=1}^{n}\left|\frac{R e^{i \theta}-\rho_{j} e^{i \theta_{j}}}{e^{i \theta}-\rho_{j} e^{i \theta_{j}}}\right| & =\prod_{j=1}^{n}\left|\frac{R e^{i\left(\theta-\theta_{j}\right)}-\rho_{j}}{e^{i\left(\theta-\theta_{j}\right)}-\rho_{j}}\right| \\
& =\prod_{j=1}^{n}\left(\frac{R^{2}+\rho_{j}^{2}-2 R \rho_{j} \cos \left(\theta-\theta_{j}\right)}{1+\rho_{j}^{2}-2 \rho_{j} \cos \left(\theta-\theta_{j}\right)}\right)^{1 / 2} \\
& \leq \prod_{j=1}^{n} \frac{R+\rho_{j}}{1+\rho_{j}} \quad\left(\text { as } 1<R \leq k^{2}\right) \\
& \leq \prod_{j=1}^{n} \frac{R+k}{1+k} \quad\left(\text { as } \rho_{j} \geq k\right) \\
& =\left(\frac{R+k}{1+k}\right)^{n} . \tag{2.8}
\end{align*}
$$

Also for $\left|a_{j}\right|>1, j=1,2, \ldots, n$, we have

$$
\begin{equation*}
\prod_{j=1}^{n}\left|\frac{e^{i \theta}-a_{j}}{R e^{i \theta}-a_{j}}\right| \leq \prod_{j=1}^{n} \frac{1+\left|a_{j}\right|}{\left|R-\left|a_{j}\right|\right|} \tag{2.9}
\end{equation*}
$$

Using inequalities (2.8) and (2.9) in equation (2.7), we obtain for $0 \leq \theta<2 \pi$,

$$
\left|\frac{r\left(R e^{i \theta}\right)}{r\left(e^{i \theta}\right)}\right| \leq\left(\frac{R+k}{1+k}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|+1}{\left|R-\left|a_{j}\right|\right|}\right) .
$$

That is, for $z \in T_{1}$ and $1<R \leq k^{2}$, we have

$$
|r(R z)| \leq\left[\left(\frac{R+k}{1+k}\right)^{n} \prod_{j=1}^{n}\left(\frac{\left|a_{j}\right|+1}{\left|R-\left|a_{j}\right|\right|}\right)\right]|r(z)| .
$$

That completes the proof of Theorem 1.3.
Acknowledgements. The authors wish to thank the referee, for the careful reading of the paper and for the helpful suggestions and comments.

## References

[1] N. C. Ankeny and T. J. Rivlin, On a Theorem of S. Bernstein, Pacific J. Math. 5 (1955), 849-852.
[2] A. Aziz, Growth of polynomials whose zeros are within or outside a circle, Bull. Austral. Math. Soc. 35 (1987), 247-256.
[3] A. Aziz and Q. M. Dawood, Inequalities for a polynomial and its derivative, J. Approx. Theory 54 (1998), 306-313.
[4] A. Aziz and N. A. Rather, Growth of maximum modulus of rational functions with prescribed poles, Mathematical Inequalities \& Applications 2 (1999), 165-173. https://dx.doi.org/10. 7153/mia-02-14
[5] G. V. Milovanović, D. S. Mitrinović and Th. M. Rassias, Topics in Polynomials: Extremal Properties, Inequalities, Zeros, World Scientific Publishing Co., Singapore, 1994.
[6] G. Pólya and G. Szegö, Problems and Theorems in Analysis, Vol. I, Springer-Verlag, New York, 1972.
[7] Q. I. Rahman and G. Schmeisser, Analytic Theory of Polynomials, Clarendon Press Oxford, 2002.
[8] T. J. Rivlin, On the maximum modulus of polynomials, Amer. Math. Monthly 67 (1960), 251-253.
${ }^{1,2,3}$ Department of Mathematics, University of Kashmir,
Hazratbal Srinagar-19006, J\&K, India
Email address: dr.narather@gmail.com
Email address: wanishafi1933@gmail.com
Email address: ishfaq619@gmail.com
*Corresponding Author


[^0]:    Key words and phrases. Rational functions, polynomial inequalities, growth, zeros.
    2020 Mathematics Subject Classification. Primary: 26D10. Secondary: 41A17, 30C15.
    DOI 10.46793/KgJMat2502.305R

